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TOTAL MARKS=100
TIME - 1 HRS (60 MIN.)
PART - A [Microsoft Excel) 25x2=50
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(8] xhwn i) alis (<) oncel (i) il
2} By detault Column Width is ... in Ms Excel
(w12 ()18 (d) 70
3} Shartout Key for sum Function is _ e
) Cerd » = Mi- () Shify ¢ = ) Sammia =
&) Totsi no. of sheet can be open by user i ol b
3 o) 255 () 256 wAd] o Himit
5) Heading L134.5.6, - in Evcel is .
(8] Sheet Bar (b} Formula Bar f€) Cotumn Hoader LL#F Row Hesder
6] To lump on last column of any sheet by presting .
b Outs S LW Curl + Right Arrow (€] Ctrl+PageDown (d) PageDown
7) To jumg on Next Sheet Prews .. '
2] Qrl + Pagetip o) Cord + Newt (c) et \4d] Qe + PageDown
B} To Select Entire {obamn Press _
{20+ A LAY Curt + Spacebar  (c) Shift + Spacobar {d) Alt + Spicebar
8} EACT]) Function is used to evaluate ' : : ;
(%) Quotiont Vetue (6] Power Value () Remainder Vahue \4éf Factorial Value
mﬂm!ﬂunmﬂum - _
(a) Scuare root Value i) Integer Value (<) Rermainder Value (d) Factorial Value
11} =0R{) Function i i |
Ui Yowa Fmetion (b) Math Function [¢) Date & Time Function \4d Lagical Function
12} =EXALT() Function is -
jat Text Sunction {B) Math Function {c) Date & Time Function
13} sTODAY]) Fanction i
(8) Text Function {b} Math Function
38} =AMD{) Function is

(8] Tem Function fb) Math Function
15 By default ROW Width s in Ms Excel

16 Forrmuta bn Excel must begims with an —...sign =
17) Total Ne. of Column in Escel Sheetis 1638 4
18] Total No. of Sheet in Exonl Steetis = 5.2
13) Totsl Ne. ol RowinExcls 10 28 SHE
Hmuhummmmmu“ﬁ:ﬂ* !
21] Which of the following Chart is same as doughnut chart
\ff e Chart (b} Column Chart _
) Shoron b used to weap test in any cell
(ol Cirt e Emer  \JRTAN ¢ Enter (c) Shilt +
L] huﬂumﬂu“ﬁmmﬂﬂn“
2A] ) i Exced oo Lo welection i R
5 b used to lmh Data in any Cell




CLASS TEST -T2

PART - B (Microsoft PowerPoint, Networking, Internet, Fundamental) 25x2=50

1) n Microsoft Powerpoint we tan made ...

() Page (b) Sheet \Ac) Stides
2 In Miicrosoft Powerpoint Gallery s Effect
fal Transition [b) Animation () Picture
3} To add a new slide in presentation ... Shortout is pressed
{a) Carl & N {b) Cerl + Enter e Tird 4 M
&) We can run PowerPoint Presentation through ........ Function key
) F2 ] 75 (€1 76
5} Which of the Following is Animation effect in powerpoint
Ay Toom {b) Box {c) Chime (d) coin
6} Universal Code of Networking is
Liaf192.168 1.1 {b) 198.162.1.1 () 196.158.1.1
7] In Networking attached Computer is known as
Qieat (b) Router {c) Server
&) We can connect two or more computers through . device
{a) Gierit (b) Router () Server
8} In Computer networking ......... connector is used in CAT cable
(a} RI-15 b} ri-45 fc) RI-55
10} INTERNET discovered By
[2] Ray Tomlinson (b} Carl Robnek (¢} Tim Bener Lee
11) W.W.W (World Wide Web) discovered By >
(a) Ray Tomlinson (b) Carl Robnek \{e) Tim Berner Lee
12) E-Mail discovered By
el Ray Tomfinson (b} Carl Robnek (¢} Tirn Berner Lee
13} First Page of any weohsite is known as
(a) Web Page \(b¥Home Page (€] Linked Page
14} Which of the following is Search Engine
{a} grmail (b} Airtel \_AcT google
15] Which of the lollowing it 1.5.P
[w) gt Alrtel ©

Eoogle
16) Full formof HTML - HY PER TEXT MARKUP LANGUAGE.
17) FdiformofHTTe _HIYFER TE*T TERMamAL PRorocoL
18} Full Form of T.C.P e LEANSHM TSSION ConTRoOL PRbTﬁan_
15 fllformofEc6 .. ELECT R canzIo Geram
20) Full Formof RAM I AN Do ACCELS MEMORY
Hi“t'hhhulqhnmﬂ:uﬁmm
) FOXT

) i used in First generation of computers

() c (&) Tranaistor
23} Which of the following & Intermal memory \de} Facuum Tubes
28] Smadlest unit of Computer is DRIVE

l2) Byte T Bit
25) Which of the follawing is an : (c) ka

ol e erample of OPERATING SYSTEM

(b} Micrasoht Office Lishanos

(d) Book
{d) Sound
(d) Curi + Space

(d) F3

(d) 158.168.1.1
(d) Hub or Switch
\dHiGb or Switch
(d) R:-65 I

LAd] Winton Grey Surf |

(d) Winton Grey Surf
() Hyper Page

(d} Facebook



